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  Period____Date________________Horizontal Tangents

For each problem, find the points where the tangent line to the function is horizontal.
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For each problem, find the points where the tangent line to the function is horizontal.  Indicate if no

horizontal tangent line exists.
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  Period____Date________________Horizontal Tangents

For each problem, find the points where the tangent line to the function is horizontal.
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For each problem, find the points where the tangent line to the function is horizontal.  Indicate if no

horizontal tangent line exists.
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No horizontal tangent line exists.

7)  

  

y = 

 

−

 

2

   

x − 3

No horizontal tangent line exists.
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No horizontal tangent line exists.
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